Forestry 240 Quiz 5




Name:_______KEY___________________

October 9, 2003

****Please Keep Answers Brief****
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Explain the variability in temperature depicted in this figure among the weather station, litter and decayed log.  
Litter:  dry, dark, little connection to soil surface; heats up quickly and can’t dissipate 

heat quickly

Decayed Log:  dark, but wet and well-connected to soil surface; heats up slowly as most


of the energy goes to evaporating water, not heating the log

Box:  standard air temperature, box is white and well-ventilated to prevent energy


absorption from incoming solar radiation
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Explain why a parking lot gets so much hotter during the day than a lake (under the exact same meteorological conditions of a bright sunny day with little wind).  What happens in the case of a windy day?

There are two basic ways in which energy can be emitted.  A parking lot will absorb almost all the energy that it receives because it is (a) dark and (b) dry.  Therefore, little energy goes to evaporation.  It will heat up quickly during the daytime.  However, a lake is a free water surface, so most of the energy it receives (90%) will be used for evaporation of water from the surface and only 10% will be used for heating.  

On a windy day, however, there is much better mixing of the air, and the temperature difference between the two will be much less.
Forestry 240 Quiz 5 - Makeup


Name:_____________ KEY ____________

October 9, 2003

****Please Keep Answers Brief****

Explain why a parking lot gets so much hotter during the day than a lake (under the exact same meteorological conditions of a bright sunny day with little wind).  What happens in the case of a windy day?

There are two basic ways in which energy can be emitted.  A parking lot will absorb almost all the energy that it receives because it is (a) dark and (b) dry.  Therefore, little energy goes to evaporation.  It will heat up quickly during the daytime.  However, a lake is a free water surface, so most of the energy it receives (90%) will be used for evaporation of water from the surface and only 10% will be used for heating.  

On a windy day, however, there is much better mixing of the air, and the temperature difference between the two will be much less.





















